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Instruction :

ENGLISH

VERSION

Necessary calculations are part of your answer.

1 The comparative Balance Sheets of "VISHWAS" Ltd. 2014 20
and 2015 are given below :

Liabilities 2014 2015 | Assets 2014 2015
Equity shares capital Fixed assets 1,00,000 2,20,000
(per share 10 Rs.) 20,000 95,000 | Investments 20,000 -
Redeemable Pref. Stock 54,000 40,000
shares capital Debtors 46,000 60,000
(Rs. 10 each of Bank balance - 2,00,000
Rs. 8 paid) 20,000 - | Profitand
Capital reserve 20,000 -] loss A/c 40,000 4,000
Gengeral reserve 60,000 60,000 | Debenture discount - 1,000
Capital red. reserve - 10,000
10% Debentures 20,000 60,000
Creditors 20,000 80,000
Bills payable 20,000 60,000
Provision for taxation 40,000 1,00,000
Provision for

depreciation 20,000 60,000
Bank overdraft 20,000 -

2,60,000 5,25,000 2,60,000 5,25,000
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Additional information :

(1)

2)

3)

(4)

(5)

(6)

The company has sold off all fixed assets for Rs. 1,20,000
in the beginning of the year and has credited profit to capital
reserve account.

The company has sold off its investments 25% profit in
current year.

Stock was valued at 10% less than its original cost in
previous year. Now it is decided to value at cost price stock
on 2015 is shown at the cost price.

In the beginning of current year the company has redeemed
preference shares at the premium of 8% after observing
necessary legal provisions for this purpose the company
has transferred required amount to capital red. reserve
A/c from general reserve A/c.

The company has given fully paid up bonus shares to its
equity shareholders from capital reserve account.
During the year the company has paid Rs. 10,000 on
account of Interim dividend and Rs. 20,000 for tax.

From the above information prepare a statement showing

changes in working capital and fund flow statement.

(All calculations are to be shown as part of answer)

OR
1 "VISHVAJEET" Ltd. Balance Sheet are given below as on 20
31-3-14 and 31-3-15 :
Liabilities 31-3-14 31-3-15 | Assets 31-3-14 31-3-15
Pref. share capital Goodwill 99,000 48,500
(EachRs. 10 paid Land & Building 2.40,000 3,75,000
upRs. 7%) 1,05,000 - | Plant & Machi. 2,10,000 3,00,000
Equity share capital Investments 60,000
(EachRs. 10) 3,00,000 4,50,000 | Stock 45,000 75,000
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Share premium 22,500 15,000 | Debtors 66,000 60,000
General Reserve 99,000 33,500 | Bills Receivable 15,000 15,000
Profit and loss A/c 52,500 1,12,500 | Cash Balance 15,000 16,500
15% Debenture - 1,50,000 | Bank Balance - 60,000
Bank overdraft 30,000 -
Creditors 75,000 90,000
Provision for tax 36,000 45,000
Proposed dividend 30,000 54,000

7,50,000 9,50,000 7,50,000 9,50,000

Additional information :

(1) The company have follow the necessary provision of law
and the amount of preference shares, return on 5% premium.
For this purpose Rs. 1,50,000 is transferred from general

reserve to capital return reserve account.
(2) Provision for taxation Rs. 46,500 during this year.

(3) The company give the bonus to present shareholders two

share given one share from capital return reserve.
(4) Investments are sale on 20% profit on its sales price.
(5) Last year proposed dividend has been paid this year.
(6) During the year debenture disclose on 5% discount.

(7) Provision of depreciation on land-building Rs. 65,000 and
plant-machinery Rs. 35,000.

From the above information prepare a statement showing

changes in working capital and fund flow statement.
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2 The Balance Sheets of "SONAL" Ltd. as on 31-3-14 and 20
31-3-15 are given below :
Liabilities 31-3-14 31-3-15| Assets 31-3-14 31-3-15
Equity share capital
(each of Rs. 10) 10,00,000 750,000 [ Fixed assets 13,00,000 14.80,000
Profit and loss A/c 7,00,000 3,20,000 | Investments 1,50,000 1,20,000
8% Debenture - 5,00,000 | Stock 1,00,000 1,50,000
Creditors 50,000 5,10,000 | Debtors 1,50,000 3,50,000
Tax provision 1,50,000 1,70,000 | Cash-Bank 1,20,000 90,000
Preliminaryexpen. 80,000 60,000
19,00,000 22,50,000 19,00,000 22,50,000

Additional information :

(1) As per section 77 of Companies Act, the company has

bought back 25% of its equity capital at face value.

(2) Investments of cost price of Rs. 50,000 were sold with

a profit of Rs. 10,000 and profit was credited to profit and

loss account.

(3) Dividend of Rs. 90,000 was paid during the year. (Interim).

(4) Provision of Rs. 50,000 for depreciation on fixed assets

was made.

(5) Income Tax Rs. 1,40,000 was paid during the year.

From the above information prepare cash flow statement

as per AS-3 in the book of SONAL Ltd.
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2

3

As per Accounting Stand. - 3 prepare the format of

"Cash Flow Statement".

(a)

(b)

(c)

(a)

V.R.G. Ltd. 1s manufacturing a engine spareparts,

to produce the first unit of it expense of raw material is
Rs. 1,000 and labour hours spent are 300 labour cost per
hour is Rs. 10 variable cost is Rs. 5 per hour. If there 1s
80% effect of learning curve on production. Then find out
the total cost and average cost per unit to produce 1 unit

and 4 units.

If in one question of S.Q.C. for X graph.

U.CL. =41.12 and ¥ = 30.58, Then find out L.C.L. for
X graph. If ten value of ¥ is 22, 29, 33, 36, 37, 31, 30,
32, 35, 28. Then find out that the following production

process 1s in control or not ? (without graph)

Explain the limitation of Decision Tree.
OR

Three Machines A, B and C produces 3000, 4000 and
3000 number of screws daily in a Factory, Machines
A, B and C produces 4%, 5% and 6% defective screws
respectively. Randomly one screw is selected from
the production and found to be defective. Find the
probability that the selected defective screw is produced
by Machine B.

20
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(b)

Draw the net-work figure from below describe data and 5

explain how dummy activity is show in figure :

Activity Immediately
Preceeding Activity

B _

H _

A

R H

T A, R

A% R

R

G A%
(c) Explain the objective of Human Resource Accounting. 5

4  Write short notes : (any two) 15

(1) Stages of Social Cost Benefit Analysis
(2) Theory of Runs
(3) Social Audit
(4) Jaggi and Lau's Model
(5) JIT Approach.
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